N of associated (recoToSim) looper tracks vs normalized X’

recoToSim) tracks vs normalized x?

[{

[N o associated

zed x?

S normal

K v:

[N of reco traci

track x?

berset

o
N
[ee]
—
©
—
<
—
N
—
o
—
00
©
<
o
ad
o
I o
N <
00 X
— O
8
© =
<
—
N
—
o
—
[ee]
©
<
o
o
syoen ayey
I o
N <
00 X
— O
3
© s
—
<
—
N
—
o
—
00
© ol
[==]
=
< |
it
o~ ==
i i =
i - g
[l =] i
- - ] sxoen aniy dney
=
I o
NS
00 X
— O
2
© 5
—
<
—
8
4N
—
o
—
H o ‘
. ror]
© .
: ¢
2
~ ]
g
o~ 9
3
it I
0 o o u—
2 S > 3 S 3 3
syoelf Z| syoen ey




	Contents
	Page 1


